

GTS Technology Solutions, Inc. 9211 Waterford Centre Blvd Suite 275 Austin, TX, 78758

Phone: (512) 452-0651

Quote

Quote #: QT0069331

Date: 4/20/2021

Delivery Date:

Expire Date:5/20/2021Customer ID:TXKLLN13004Sales Contact:Jonathan Wey

QUO	TE FOR:			SHIP TO:				
City of Killeen			City of Killeen					
	CUSTOMER P.O. NO. TERMS		TERMS	SALES REP				
		Net 30 Days			Tanner Funke			
	SHIPPING TERMS		SHIP VIA					
NO.	ITEM		CONTRACT		QTY.	UOM	PRICE	EXTENDED PRICE
1	1 210-AQPT: Dell Latitude 5420 Rugged, CTO		DIR-TSO-3763-F	₹	24.00	EACH	\$2,910.82	\$69,859.68

NOTE: Dell Latitude 5420 Rugged, CTO

8th Gen Intel Core i5-8350U Processor (Quad Core, 6M Cache, 1.7GHz,15W, vPro)

Win 10 Pro 64 English, French, Spanish

No Microsoft Office License Included - 30 day Trial Offer Only

Intel Core i5-8350U Processor Base with Integrated Intel UHD 620 Graphics

No Out-of-Band Systems Management - vPro Disabled

8GB, 2x4GB, 2400MHz DDR4 Non-ECC

M.2 512GB PCIe NVMe Class 40 Solid State Drive

14" FHD WVA (1920 x 1080) Embedded Touch, Outdoor-Readable Screen

No Security Options

Dell USB,USB,AUDIO,BLANK left I/O module

SYSTEM RATING LABEL

Sealed Internal RGB Backlit English Keyboard

Intel Dual Band Wireless AC 8265 (802.11ac) 2x2 + Bluetooth 4.2 Driver

Intel Dual Band Wireless AC 8265 (802.11ac) 2x2

WLAN Bracket

Qualcomm Snapdragon X20 (DW5821e) Vrz

WWAN Bracket

3 Cell 51Whr ExpressCharge Capable Battery

90 Watt AC Adapter

No Anti-Virus Software

OS-Windows Media Not Included

E5 US Power Cord

Quick Referene Guide

Factory Installed Rigid handle tied sku

2nd 3 Cell 51Whr ExpressCharge Capable Battery

SERI Guide (English/Spanish)

Regulatory Label included

TPM Enabled

System Driver, Dell Latitude 5420

Dell Developed Recovery Environment

Shuttle SHIP Material

Directship Info Mod

No Option Included

No Resource USB Media

ENERGY STAR Qualified

BTO Standard shipment Air

Continued... Page: 1 of 3



GTS Technology Solutions, Inc. 9211 Waterford Centre Blvd Suite 275 Austin, TX, 78758

Austin, TX, 78758 Phone: (512) 452-0651

Quote

Quote #: QT0069331
Date: 4/20/2021

Delivery Date:

Expire Date:5/20/2021Customer ID:TXKLLN13004Sales Contact:Jonathan Wey

QUC	OTE FOR:	SHIP T	O:				
City of Killeen		City o	City of Killeen				
		EDMO		0.11	-0.050		
		TERMS 30 Days			ES REP er Funke		
		ING TERMS	SHIP VIA				
NO.	ITEM	CONTRACT	QTY.	UOM	PRICE	EXTENDED PRICE	
	No Additional IO Ports						
	Dedicated u-blox NEO-MQN GPS Card RGB Camera						
	ProSupport Plus: Next Business Day Onsite	, 2 Years Extended ProSupp	ort Plus: Next Busi	ness Day Ons	ite, 3 Years		
	Dell Limited Hardware Warranty Initial Year	•		•			
	ProSupport Plus: Accidental Damage Service	• •	Keep Your Hard D	rive, 5 Years			
	ProSupport Plus: 7X24 Technical Support, 5 Dell Limited Hardware Warranty Extended Y						
	Thank you for choosing Dell ProSupport Plu	` '	w.dell.com/contacto	dell or call 1-86	6-516-3115		
2	44.18% off MSRP (\$5214.43) DS-DELL-412-3: Docking Station and LPS-137	DIR-CPO-4751	24.00	EACH	\$792.22	¢10 012 20	
2	(90W Vehicle Power Supply) with Triple Pass- through Antenna for Dell's Latitude 14 Rugged and Latitude 12 & 14 Rugged Extreme Notebooks (Advanced Port Replication)	DIR-GPO-4751	24.00	EACH	\$192.22	\$19,013.28	
	NOTE: 41.25% off MSRP (\$1349.71)						
3	C-MD-119: 11" Slide Out Locking Swing Arm	DIR-CPO-4751	15.00	EACH	\$204.33	\$3,064.95	
	with Low Profile Motion Adapter	DID 000 4754	04.00	E4011	0004.44	045.447.00	
4	MA1-0900600M-NNA: 1-yr NetCloud Essentials for Mobile Routers (Prime) with support and IBR900 router with WiFi (600Mbps modem), no AC power supply or antennas, North America	DIR-CPO-4751	24.00	EACH	\$631.14	\$15,147.36	
5	C23F-5T: FME(ftd) TNC(ftd) 5m CS23 cable	DIR-CPO-4751	24.00	EACH	\$11.52	\$276.48	
6	AFGB-832: ANTENNA ELEMENT 3dB 764- 900MHz	DIR-CPO-4751	24.00	EACH	\$19.52	\$468.48	
7	GPSD-7-27-24-58: MIMO GPS/GNSS 2G/3G/ 4G WLAN ANT	DIR-CPO-4751	24.00	EACH	\$165.20	\$3,964.80	
8	C29SP-5SJ: CS29 CABLE 5m SMA PLG TO SMA JACK	DIR-CPO-4751	48.00	EACH	\$14.41	\$691.68	
9	C32SP-5SMARV: 5m CS32 CABLE SMA(m) - SMA(m) RP	DIR-CPO-4751	48.00	EACH	\$21.80	\$1,046.40	
10	C23FP-5SP: FME(m)-SMA(m) 5m CS23	DIR-CPO-4751	24.00	EACH	\$11.52	\$276.48	
11	SERVICES: GTS SERVICES: Removal of existing camera equipment and installation of new hardware. Services to be performed by CAP Fleet Upfitters.	DIR-CPO-4754	24.00	EACH	\$10,897.27	\$261,534.48	

Continued... Page: 2 of 3



GTS Technology Solutions, Inc. 9211 Waterford Centre Blvd Suite 275 Austin TX 78758

Austin, TX, 78758 Phone: (512) 452-0651

Quote

Quote #: QT0069331
Date: 4/20/2021

Delivery Date:

Expire Date:5/20/2021Customer ID:TXKLLN13004Sales Contact:Jonathan Wey

QUOTE FOR:	SHIP TO:				
City of Killeen	City of Killeen				
CUSTOMER P.O. NO.	TERMS		SALES	REP	
	Net 30 Days		Tanner	Funke	
	SHIPPING TERMS		SHIP VIA		
NO. ITEM	CONTRACT	QTY.	UOM	PRICE	EXTENDED PRICE

NOTE: ** New COBAN Hardware to be installed:

FOCUS-51-00 MZZ-01 SCOPT-27 SCOPT-02 FOCUS-02-00 SCPKD-DRA-0405 FOCUS-01-00 WARR-X1-TSP3 WARR-X1-ICADTSP3

WLIC-26 WMAIN-123 WMAIN-123-3

	Total Weight (EACH):	0	Sales Total:	\$375,344.07
	Total Volume (EACH):	0	Freight & Misc.:	\$0.00
These prices do NOT include taxes, insurance, shipping, de material unless specifically listed above. All prices are subjeavailability.		ices or	Tax Total: Total (USD):	\$0.00 \$375,344.07



No Israel Boycott Certification

Texas Government Code, Chapter 2270, provides that a governmental entity – including a city – may not enter into certain contracts with a company for goods or services unless the contract contains a written verification that the company does not boycott Israel and will not boycott Israel during the term of the contract. The verification is specifically required when a governmental entity 1) enters into a contract with a company with ten (10) or more full-time employees, <u>and</u> 2) the contract is valued at \$100,000 or more to be paid wholly or partly from public funds.

"Boycott Israel" is defined in Texas Government Code 808.001 to mean refusing to deal with, terminating business activities with, or taking any action that is intended to penalize, inflict economic harm on, or limit commercial relations specifically with Israel, or with a person or entity doing business in Israel or in an Israeli-controlled territory, but does not include an action made for ordinary business purposes.

By signing below, I verify that the company listed below does not boycott Israel and will not boycott Israel during the term of the contracted entered into with the City of Killeen. I further certify that I am authorized by the company listed below to make this verification.

verification.	Stanley Convergent Security Solutions, Inc.				
Signature	Company Name				
David Beeler	Senior Sales Engineer				
Printed Name	Title				
3/30/2021					
Date					